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Note : Answer questions from Sections A and B 

as per instructions. 

 Section—A  

Note : Answer any two questions from this 

Section in about 500 words each. 2×20=40 

1. (a) Discuss the role of education in 

economic development. 10 



 [ 2 ] MEC–108 

A–267/MEC–108 

(b) How is Sen’s capability approach 

attributed to the dual role of education ? 

10 

2. (a) In the context of intergenerational 

climate change, what is meant by 

internalizing externalities ? 10 

(b) Discuss the importance of discount rate 

in global climate change debate. 10 

3. (a) Discuss how the nexus between 

environmental degradation and poverty 

leads to a vicious circle. 10 

(b) What are the key factors explaining the 

population environment linkages ? 10 
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4. (a) Why is health regarded both as a 

consumption good as well as investment 

good ?  8 

(b) How do the QALY and DALY represent 

the burden of disease indicators ? How 

are they measured ? 12 

 Section—B  

Note : Answer any five questions from this 

Section in about 250 words each. 5×12=60 

5. Explain the concept of total economic value 

of environment. 12 

6. Distinguish between Hartwick and the 

Solow-Hartwick criteria for defining 

sustainable development. 12 
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7. Suppose you have to estimate the total 

economic value of forest near your village. 

What are the functions of forest that you 

should include ? How would you measure 

the value of these functions ? 12 

8. The demand for fish is given by 400 – 3h, h 

being the harvest with h = 0.6E, where E is 

the effort level. Marginal costs and average 

costs are constant and is equal to 200 per 

unit of effort. Find the bioeconomic and 

private competitive level of effort and 

harvest.   12 

9. Distinguish between the private rate of 

return and social rate of return. Why is the 

social rate of return critical for designing an 

effective education policy ? 12 
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10. State the first condition of optimal depletion 

of resources. In what way is the efficiency 

condition P = MC (Marginal Cost) different 

in the case of a competitive resource owner 

firm ?   12 

11. What are the two areas in which 

adjustments are required in order to remove 

the shortcomings of the conventional system 

of national income accounts (SNA) system ? 

Give illustrations. 12 

12. Explain the concept of moral hazard. 

Discuss the two types of moral hazards 

associated with health insurance market. 12 
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dyk fu".kkr (vFkZ'kkL=) (,e- bZ- lh-) 

l=kar ijh{kk  

twu] 2025 

,e-bZ-lh-&108 % lkekftd {ks= vkSj i;kZoj.k dk 

vFkZ'kkL= 

le; % 3 ?k.Vs   vf/kdre vad % 100  

uksV % Hkkx ^d* vkSj Hkkx ^[k* ls ;FkkfunsZ'k iz'uksa ds mÙkj 

fyf[k,A 

 Hkkxµd  

uksV % bl Hkkx ls fdUgha nks iz'uksas ds mÙkj (izR;sd) yxHkx 

500 'kCnksa esa fyf[k,A 2×20=40 

1- (d) vk£Fkd fodkl esa f'k{kk dh Hkwfedk ij ppkZ 

dhft,A  10 
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([k) lsu ds ;ksX;rk {kerk n`f"Vdks.k dks fdl :i esa 

f'k{kk dh nksgjh Hkwfedk ls tksM+k tkrk gS \ 10 

2- (d) vUrihZ<+h ekSleh ifjorZu ds lanHkZ esa ckárkvksa ds 

vkUrjhdj.k dk D;k vFkZ gS \ 10 

([k) oSf'od tyok;q ifjorZu ifjppkZ esa dkVk nj ds 

egRo ij ppkZ dhft,A 10 

3- (d) ppkZ dhft, fd fdl izdkj i;kZoj.kh; vijnu 

vkSj xjhch ds chp nqjfHklaf/k ls ,d nq'pØ dk 

tUe gksrk gSA 10 

([k) tula[;k&i;kZoj.k vUrlZEcU/kksa dh O;k[;k djus 

okys eq[; dkjd D;k gSa \ 10 

4- (d) LoLFkrk dks ,d miHkksx inkFkZ ,oa fuos'k inkFkZ nksuksa 

ds uke D;ksa fn, tkrs gSa \ 8 
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([k) QALY rFkk DALY fdl izdkj #X.krk ds Hkkj ds 

lwpd gSa \ budk ekiu dSls gksrk gS \ 12 

 Hkkxµ[k  

uksV % bl Hkkx ls fdUgha ik¡p iz'uksas ds mÙkj (izR;sd) 

yxHkx 250 'kCnksa esa fyf[k,A  5×12=60 

5- i;kZoj.k ds lexz vk£Fkd ewY;eku dh ladYiuk dks 

le>kb,A   12 

6- /kkj.kh; fodkl dh dlkSVh ds fo"k; essa gkVZfod rFkk 

lksyks&gkVZfod dh lajpukvksa essa Hksn dhft,A 12 

7- eku yhft, fd vkidks vius xk¡o ds fudVorhZ ou ds 

lexz vk£Fkd ewY;eku dk vuqeku yxkuk gSA vkidks ou 

ds dkSu&ls izdk;ks± dks vkdyu esa 'kkfey djuk pkfg, \  

mu izdk;ks± dk ewY;kadu fdl izdkj djsaxs \ 12 
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8- eNfy;ksa ds fy, ek¡x 400 – 3h gS] tgk¡ h mudh mit 

gSA lkFk gh h = 0.6 E, tgk¡ E iz;kl dk Lrj gSA lhekUr 

,oa vkSlr ykxrsa fLFkj gSa vkSj mudk eku 200 izfr bdkbZ 

iz;kl gSA iz;kl vkSj mRikn ds tSo&vk£Fkd ,oa futh 

Li/khZ Lrjksa dk vkdyu dhft,A 12 

9- futh ,oa lkekftd izfrizkfIr njksa esa Hksn dhft,A ,d 

izHkkoksRiknd f'k{kk uhfr dh jpuk esa lkekftd izfr izkfIr 

nj D;ksa fu.kkZ;d jgrh gS \ 12 

10- b"Vre lalk/ku vijnu (lekiu) dh izFke 'krZ crkb,A 

n{krk dh 'krZ P = MC (lhekUr ykxr) fdl izdkj ls 

,d Li/khZ futh LokfeRo okyh QeZ ds lUnHkZ esa i`Fkd~ 

:i /kkj.k dj ysxh \ 12 
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11- jk"Vªh; vk; ys[ks dh ijEijkxr O;oLFkk ds fdu nks {ks=ksa 

(vk;keksa) dh =qfV;k¡ lq/kkjus ds fy, ifjorZu dh 

vko';drk gS \ mnkgj.k nhft,A 12 

12- uSfrd }U} dh ladYiuk dh O;k[;k dhft,A LokLF; 

chek cktkj ls tqM+s nks izdkj ds uSfrd }U}ksa ij ppkZ 

dhft,A   12 

× × × × × 

 

 

 

 

 

 

 

 

 


